# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Page 1 of 9
T DISTRICT - 2016
Payment Number: 5
BY CITY ENGINEERING PERSONNEL ONLY
1,258,157,84
62,907.90
1,195,249.94
605,184.72
# 590,065.22
4/5/20
DATE  st of his/her knowledge, the work covered and in accordance with the contract documents, the amount certified.
DATE st of his/her knowledge, the work covered ed in accordance with the contract documents,
DATE st of his/her knowledge, the work covered ed in accordance with the contract documents, he amount certified.

\*\*\*\*\*\*

STREET ACCOUNT NO. 10896-402-170
METRO ACCOUNT NO. 85100-54250-00000
STREET STORM ACCOUNT NO. 10896-802-174
STORM ACCOUNT NO. 10896-84-174
SANITARY ACCOUNT NO. 10896-83-173
WATER ACCOUNT NO. 10896-86-179

PAYMENT NO. 5

### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584

PAYME	NI NO. 5										*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 10896-402-170	_											
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$11,000.00	\$11,000.00		0.25	\$2,750.00	0.50	\$5,500.00	0.75	\$8,250.00	75.0%
10720	TRAFFIC CONTROL SIGN-PORTABLE ARROW BOARD	50.00	DAYS	\$25.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10721	TRAFFIC CONTROL SIGN-PORTABLE CHANGEABLE MESSAGE	14.00	DAYS	\$100.00	\$1,400.00		0.00	\$0.00	14.00	\$1,400.00	14.00	\$1,400.00	100.0%
10801	ROOT CUTTING-CURB & GUTTER	900.00	L.F.	\$0.50	\$450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10802	ROOT CUTTING-SIDEWALK	330.00	L.F.	\$0.50	\$165.00		10.00	\$5.00	0.00	\$0.00	10.00	\$5.00	3.0%
10911	MOBILIZATION	1.00	L.S.	\$10,000.00	\$10,000.00		0.50	\$5,000.00	0.50	\$5,000.00	1.00	\$10,000.00	100.0%
20101	EXCAVATION CUT	5,216.00	C.Y.	\$14.75	\$76,936.00		500.00	\$7,375.00	500.00	\$7,375.00	1,000.00	\$14,750.00	19.2%
20140	GEOTEXTILE FABRIC, TYPE SAS (NON-WOVEN)	1,890.00	S.Y.	\$2.10	\$3,969.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20219	BREAKER RUN	1,260.00	TON	\$9.00	\$11,340.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	4,085.00	S.Y.	\$4.45	\$18,178.25		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT	361.00	L.F.	\$1.55	\$559.55		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20322	REMOVE CONCRETE CURB & GUTTER	6,562.00	L.F.	\$2.75	\$18,045.50		1,000.00	\$2,750.00	500.00	\$1,375.00	1,500.00	\$4,125.00	22.9%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	21,310.00	S.F.	\$1.85	\$39,423.50		500.00	\$925.00	0.00	\$0.00	500.00	\$925.00	2.3%
20401	CLEARING	610.00	I.D.	\$25.00	\$15,250.00		0.00	\$0.00	592.40	\$14,810.00	592.40	\$14,810.00	97.1%
20403	GRUBBING	610.00	I.D.	\$25.00	\$15,250.00		20.00	\$500.00	572.40	\$14,310.00	592.40	\$14,810.00	97.1%
20701	TERRACE SEEDING	4,085.00	S.Y.	\$1.80	\$7,353.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21063	EROSION MATTING, CLASS 1, Type A-Organic	4,085.00	S.Y.	\$1.35	\$5,514.75		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE "A" CONCRETE CURB & GUTTER	6,238.00	L.F.	\$13.50	\$84,213.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30203	TYPE "X" CONCRETE CURB & GUTTER	30.00	L.F.	\$25.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584

PAYME	NT NO. 5										*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30205	TYPE "E" CONCRETE CURB & GUTTER	114.00	L.F.	\$25.00	\$2,850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30211	MOUNTABLE CURB & GUTTER, TRAFFIC CIRCLE	84.00	L.F.	\$40.00	\$3,360.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	11,910.00	S.F.	\$5.00	\$59,550.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	11,593.00	S.F.	\$5.55	\$64,341.15		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	50.00	S.F.	\$10.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	192.00	S.F.	\$25.00	\$4,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40101	CRUSHED AGGREGATE BASE COURSE,, GRADATION NO. 1	4,040.00	TON	\$14.10	\$56,964.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40102	CRUSHED AGGREGATE BASE COURSE,, GRADATION NO. 2	3,644.00	TON	\$14.30	\$52,109.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40202	HMA PAVEMENT, TYPE E-1	2,778.00	TON	\$52.52	\$145,900.56		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40211	TACK COAT	1,158.00	GAL.	\$3.03	\$3,508.74		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40231	ASPHALT DRIVE & TERRACE	30.00	S.Y.	\$45.12	\$1,353.60		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	1,300.00	L.F.	\$1.10	\$1,430.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	600.00	L.F.	\$0.80	\$480.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	700.00	L.F.	\$1.10	\$770.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	1,200.00	L.F.	\$7.00	\$8,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	250.00	L.F.	\$8.80	\$2,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	650.00	L.F.	\$9.00	\$5,850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60819	PAVEMENT MARKING EPOXY, CURB	500.00	L.F.	\$4.40	\$2,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60820	PAVEMENT MARKING EPOXY, MEDIAN NOSE	200.00	S.F.	\$3.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	1.00	EACH	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60886	PAVEMENT MARKING REMOVAL, 4" DOUBLE LINE	400.00	L.F.	\$2.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60940	TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, LINE, 4-INCH	1,350.00	L.F.	\$2.00	\$2,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584
PAYMENT NO. 5

	ACT NO. 7584 NT NO. 5						I		I		*****		ſ
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60945	TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, LINE, 24-INCH	20.00	L.F.	\$7.00	\$140.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90701	TRAFFIC CONTROL FLEXIBLE TUBULAR MARKER POSTS	50.00	EACH	\$21.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90702	TRAFFIC CONTROL FLEXIBLE TURBULAR MARKER BASES	50.00	EACH	\$5.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$743,304.80	•		\$19,305.00	•	\$49,770.00		\$69,075.00	9.3%
METRO	ACCOUNT NO. 85100-54250-00000												
20323	REMOVE CONCRETE SIDEWALK & DRIVE	162.00	S.F.	\$1.85	\$299.70		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	450.00	S.F.	\$5.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$2,549.70		,	\$0.00		\$0.00	•	\$0.00	0.0%
STREET	STORM ACCOUNT NO. 10896-402-174												
20217	CLEAR STONE	672.00	TON	\$9.70	\$6,518.40		99.71	\$967.19	182.23	\$1,767.63	281.94	\$2,734.82	42.0%
20221	TOPSOIL	685.00	S.Y.	\$4.45	\$3,048.25		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20312	REMOVE CATCHBASIN	2.00	EACH	\$430.00	\$860.00		2.00	\$860.00	0.00	\$0.00	2.00	\$860.00	100.0%
20313	REMOVE INLET	11.00	EACH	\$390.00	\$4,290.00		5.00	\$1,950.00	0.00	\$0.00	5.00	\$1,950.00	45.5%
20314	REMOVE PIPE	480.00	L.F.	\$18.25	\$8,760.00		274.00	\$5,000.50	25.00	\$456.25	299.00	\$5,456.75	62.3%
20701	TERRACE SEEDING	685.00	S.Y.	\$1.80	\$1,233.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21002	EROSION CONTROL INSPECTION	8.00	EACH	\$400.00	\$3,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21011	CONSTRUCTION ENTRANCE	6.00	EACH	\$510.00	\$3,060.00		1.00	\$510.00	3.00	\$1,530.00	4.00	\$2,040.00	66.7%
21013	STREET SWEEPING	1.00	LUMP SUM	\$750.00	\$750.00		0.25	\$187.50	0.50	\$375.00	0.75	\$562.50	75.0%
21015	STREET CONSTRUCTION STONE BERM	4.00	EACH	\$280.00	\$1,120.00		0.00	\$0.00	2.00	\$560.00	2.00	\$560.00	50.0%
21018	SILT SOCK (8 INCH) - PROVIDE, INSTALL & MAINTAIN	530.00	L.F.	\$3.50	\$1,855.00		80.00	\$280.00	120.00	\$420.00	200.00	\$700.00	37.7%
21019	SILT SOCK (8 INCH) - REMOVE & RESTORE	530.00	L.F.	\$1.25	\$662.50		80.00	\$100.00	120.00	\$150.00	200.00	\$250.00	37.7%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584
PAYMENT NO. 5

PAYMEI	NT NO. 5	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21032	INLET PROTECTION, TYPE C - PROVIDE & INSTALL	21.00	EACH	\$40.00	\$840.00		0.00	\$0.00	6.00	\$240.00	6.00	\$240.00	28.6%
21033	INLET PROTECTION, TYPE C - MAINTAIN	42.00	EACH	\$25.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21034	INLET PROTECTION, TYPE C - REMOVE	21.00	EACH	\$20.00	\$420.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	13.00	EACH	\$105.00	\$1,365.00		0.00	\$0.00	10.00	\$1,050.00	10.00	\$1,050.00	76.9%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	26.00	EACH	\$40.00	\$1,040.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	13.00	EACH	\$40.00	\$520.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21064	EROSION MATTING, CLASS I, TYPE B - ORGANIC	685.00	S.Y.	\$1.35	\$924.75		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	395.00	L.F.	\$60.40	\$23,858.00		40.00	\$2,416.00	0.00	\$0.00	40.00	\$2,416.00	10.1%
50432	12 INCH TYPE II PAVEMENT STORM SEWER PIPE	152.00	L.F.	\$78.80	\$11,977.60		153.00	\$12,056.40	0.00	\$0.00	153.00	\$12,056.40	100.7%
50741	TYPE H INLET	17.00	EACH	\$2,210.00	\$37,570.00		6.00	\$13,260.00	0.00	\$0.00	6.00	\$13,260.00	35.3%
50768	TERRACE INLET TYPE 3	2.00	EACH	\$3,060.00	\$6,120.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50801	ULO	5.00	EACH	\$580.00	\$2,900.00		0.00	\$0.00	10.00	\$5,800.00	10.00	\$5,800.00	200.0%
90030	SADDLED INLET MODIFIED	1.00	EACH	\$2,402.00	\$2,402.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$126,344.50			\$37,587.59		\$12,348.88		\$49,936.47	39.5%
STORM	ACCOUNT NO. 10896-84-174												
10702	TRAFFIC CONTROL FOR STORM SEWER INSTALLATION	1.00	LUMP SUM	\$20.00	\$20.00		1.00	\$20.00	0.00	\$0.00	1.00	\$20.00	100.0%
10912	MOBILIZATION FOR STORM SEWER INSTALLATION	1.00	LUMP SUM	\$2,500.00	\$2,500.00		1.00	\$2,500.00	0.00	\$0.00	1.00	\$2,500.00	100.0%
20233	RIPRAP FILTER FABRIC, TYPE HR	985.00	S.Y.	\$3.40	\$3,349.00		900.00	\$3,060.00	0.00	\$0.00	900.00	\$3,060.00	91.4%
20336	PIPE PLUG	11.00	EACH	\$200.00	\$2,200.00		11.00	\$2,200.00	0.00	\$0.00	11.00	\$2,200.00	100.0%
20401	CLEARING	86.00	I.D.	\$25.00	\$2,150.00		0.00	\$0.00	54.20	\$1,355.00	54.20	\$1,355.00	63.0%
20403	GRUBBING	86.00	I.D.	\$25.00	\$2,150.00		0.00	\$0.00	54.20	\$1,355.00	54.20	\$1,355.00	63.0%
40202	HMA PAVEMENT, TYPE E-1	82.00	TON	\$52.52	\$4,306.64		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584
PAYMENT NO. 5

	ACT NO. 7584 NT NO. 5					1	I				*****		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40211	TACK COAT	14.00	GAL.	\$3.03	\$42.42		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40301	FULL WIDTH GRINDING	272.00	SY	\$8.28	\$2,252.16		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50211	SELECT BACKFILL FOR STORM SEWER	1,800.00	T.F.	\$0.01	\$18.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50225	UTILITY TRENCH PATCH TYPE III	75.00	T.F.	\$62.20	\$4,665.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50390	SEWER ELECTRONIC MARKERS	2.00	EACH	\$47.00	\$94.00		3.00	\$141.00	0.00	\$0.00	3.00	\$141.00	150.0%
50402	15 INCH TYPE I RCP STORM SEWER PIPE	191.00	L.F.	\$63.00	\$12,033.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50419	19 INCH X 30 INCH TYPE I HERCP STORM SEWER PIPE	240.00	L.F.	\$95.80	\$22,992.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50461	12 INCH RCP AE	1.00	EACH	\$915.00	\$915.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50501	8'X4' ASTM C-1433 BOX CULVERT - INSTALATION	870.00	LF	\$565.00	\$491,550.00		749.00	\$423,185.00	32.00	\$18,080.00	781.00	\$441,265.00	89.8%
50511	BOX CULVERT WINGWALL	1.00	EACH	\$12,500.00	\$12,500.00		0.75	\$9,375.00	0.00	\$0.00	0.75	\$9,375.00	75.0%
50601	12 INCH RCP AE GATE	1.00	EACH	\$365.00	\$365.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50651	8'X4' BOX CULVERT OUTLET GATE	1.00	EACH	\$5,500.00	\$5,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50723	3'X3' STORM SAS	4.00	EACH	\$2,860.00	\$11,440.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50792	STORM SEWER TAP	1.00	EACH	\$885.00	\$885.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90031	STORM CONTROL PLAN AND IMPLEMENTATION	1.00	LUMP SUM	\$1,795.00	\$1,795.00		0.50	\$897.50	0.00	\$0.00	0.50	\$897.50	50.0%
90032	18" PIPE PLUG AT EX ENDWALL	1.00	EACH	\$490.00	\$490.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90033	REMOVE CUNETTE	10.00	SY	\$47.00	\$470.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90034	10-INCH CONCRETE CUNETTE	16.00	SY	\$215.00	\$3,440.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90035	STEEL RAILING	22.00	L.F.	\$190.00	\$4,180.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90036	STORM BOX END	1.00	EACH	\$1,365.00	\$1,365.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90037	3'X3' SAS - MODIFIED	2.00	EACH	\$2,800.00	\$5,600.00		2.00	\$5,600.00	0.00	\$0.00	2.00	\$5,600.00	100.0%
90038	CONCRETE WASTE MANAGEMENT	1.00	LUMP SUM	\$350.00	\$350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$599,617.22	•		\$446,978.50	•	\$20,790.00	-	\$467,768.50	78.0%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584
PAYMENT NO. 5

1		ACT NO. 7584 NT NO. 5						I		1		*****		I
SANTARY ACCOUNT NO. 10896-83-173   1.00			1	2	3	4	5	6	7	8	9	#10	11	12
TRAFFIC CONTROL FOR SANITARY SEWER CONSTRUCTION   1.00	ITEM	TYPE OF WORK		UNITS					EXTENSION		EXTENSION	-	EXTENSION	PERCENT COMPLETE
SEWER CONSTRUCTION   1.00   LUMP SUM   \$1,125.00   \$1,125.00   \$1,125.00   \$1,125.00   \$1,025   \$221.25   \$0,75   \$344.75   \$1,00   \$1,125.00   \$1,001   \$	SANITA	RY ACCOUNT NO. 10896-83-173					•	•				•		
CONSTRUCTION   1.00   EACH   S795.00   S1,0305.00   0.00   S0,00   0.00   S2,190.00   1.00   S3,200.00   S2,190.00   S2,1	10704		1.00	LUMP SUM	\$1,125.00	\$1,125.00		0.25	\$281.25	0.75	\$843.75	1.00	\$1,125.00	100.0%
REMOVE PIPE   50.00   L.F.   \$18.25   \$912.50   0.00   \$0.00   120.00   \$2,190.00   120.00   \$2,190.	10914		1.00	LUMP SUM	\$3,500.00	\$3,500.00		0.00	\$0.00	1.00	\$3,500.00	1.00	\$3,500.00	100.0%
20335 ABANDON SEWER PIPE WITH SLURRY 9.30 C.Y. \$260.00 \$2,418.00 0.00 \$50.00 0.00 \$50.00 0.00 \$50.00 0.00	20311	REMOVE SEWER ACCESS STRUCTURE	13.00	EACH	\$795.00	\$10,335.00		0.00	\$0.00	6.00	\$4,770.00	6.00	\$4,770.00	46.2%
HMA PAVEMENT, TYPE E-1	20314	REMOVE PIPE	50.00	L.F.	\$18.25	\$912.50		0.00	\$0.00	120.00	\$2,190.00	120.00	\$2,190.00	240.0%
A0211   TACK COAT   15.00   GAL   \$3.03   \$45.45   0.00   \$0.00   0.00   \$0.00   0.00   \$0.00   0.00   \$0.00	20335	ABANDON SEWER PIPE WITH SLURRY	9.30	C.Y.	\$260.00	\$2,418.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
A0301   FULL WIDTH GRINDING   288.00   SY   \$8.28   \$2,384.64   0.00   \$0.00   0.00   \$0.00   0.00   \$0.00	40202	HMA PAVEMENT, TYPE E-1	87.00	TON	\$52.52	\$4,569.24		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
Solid   RECONSTRUCT BENCH AND   FLOWLINES   2.00   EACH   \$3,310.00   \$6,620.00   0.00   \$0.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$3,310.00   1.00   \$500.00   \$500.00	40211	TACK COAT	15.00	GAL.	\$3.03	\$45.45		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
FLOWLINES 2.00 EACH \$3,310.00 \$6,820.00   0.00 \$0.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00 \$3,310.00 \$1.00	40301	FULL WIDTH GRINDING	288.00	SY	\$8.28	\$2,384.64		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50212         SELECT FILL FOR SANITARY SEWER MAIN         5,829.00         T.F.         \$0.01         \$58.29         0.00         \$0.00         \$16.32         1,632.00         \$16.32           50225         UTILITY TRENCH PATCH TYPE III         105.00         T.F.         \$62.20         \$6,531.00         0.00         \$0.00         0.00         \$0.00         0.00         \$0.00         0.00         \$78,453.00         \$70.00         \$79,590.00         \$79,590.00         \$0.00         \$0.00         \$0.00         \$78,453.00         \$70.00         \$79,590.00	50103		2.00	EACH	\$3,310.00	\$6,620.00		0.00	\$0.00	1.00	\$3,310.00	1.00	\$3,310.00	50.0%
MAIN	50202	DEWATERING TYPE II	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	1.00	\$500.00	1.00	\$500.00	100.0%
50302         10" PVC SANITARY SEWER PIPE SDR-35/ SDR-27         2,459.00         L.F.         \$113.70         \$279,588.30         10.00         \$1,137.00         690.00         \$78,453.00         700.00         \$79,590.00           50303         12" PVC SANITARY SEWER PIPE SDR-35/ SDR-26         45.00         L.F.         \$141.20         \$6,354.00         0.00         \$0.00         46.00         \$6,495.20         46.00         \$6,495.20           50304         15" PVC SANITARY SEWER PIPE SDR-35/ SDR-26         741.00         L.F.         \$126.10         \$93,440.10         0.00         \$0.00         752.00         \$94,827.20         752.00         \$94,827.20           50305         18" PVC SANITARY SEWER PIPE SDR-35/ SDR-26         145.00         L.F.         \$153.10         \$22,199.50         0.00         \$0.00         144.00         \$22,046.40         144.00         \$22,046.40           50353         - SANITARY SEWER LATERAL SDR-35/SDR-26         2,439.00         L.F.         \$21.70         \$52,926.30         1,350.00         \$29,295.00         0.00         \$0.00         \$0.00         \$10,00         \$20,00         \$29,295.00           50354         RECONNECT SANITARY LATERAL         75.00         EACH         \$3,400.00         \$255,000.00         10.00         \$34,000.00         40.00<	50212		5,829.00	T.F.	\$0.01	\$58.29		0.00	\$0.00	1,632.00	\$16.32	1,632.00	\$16.32	28.0%
35/ SDR-27 2,499.00 L.F. \$113.70 \$279,588.30 10.00 \$1,137.00 690.00 \$78,433.00 700.00 \$79,590.00 \$12" PVC SANITARY SEWER PIPE SDR-35/ SDR-26 741.00 L.F. \$126.10 \$93,440.10 10.00 \$0.00 \$0.00 752.00 \$94,827.20 75	50225	UTILITY TRENCH PATCH TYPE III	105.00	T.F.	\$62.20	\$6,531.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
35/ SDR-26	50302		2,459.00	L.F.	\$113.70	\$279,588.30		10.00	\$1,137.00	690.00	\$78,453.00	700.00	\$79,590.00	28.5%
50304         35/ SDR-26         741.00         L.F.         \$126.10         \$93,440.10         0.00         \$0.00         752.00         \$94,827.20         \$94,827.20           50305         18" PVC SANITARY SEWER PIPE SDR-35/ SDR-26         145.00         L.F.         \$153.10         \$22,199.50         0.00         \$0.00         \$144.00         \$22,046.40         144.00         \$22,046.40           50353         - SANITARY SEWER LATERAL SDR-35/SDR-26         2,439.00         L.F.         \$21.70         \$52,926.30         1,350.00         \$29,295.00         0.00         \$0.00         \$0.00         \$136,000.00         \$29,295.00           50354         RECONNECT SANITARY LATERAL         75.00         EACH         \$3,400.00         \$255,000.00         10.00         \$34,000.00         40.00         \$136,000.00         50.00         \$170,000.00           50361         WASTEWATER CONTROL         1.00         LUMP SUM         \$10,000.00         \$10,000.00         0.00         \$0.00         0.75         \$7,500.00         0.75         \$7,500.00           50390         SEWER ELECTRONIC MARKERS         249.00         EACH         \$47.00         \$11,703.00         84.00         \$3,948.00         20.00         \$940.00         104.00         \$4,888.00	50303		45.00	L.F.	\$141.20	\$6,354.00		0.00	\$0.00	46.00	\$6,495.20	46.00	\$6,495.20	102.2%
35/ SDR-26 143.00 L.F. \$133.10 \$22,199.50 0.00 \$0.00 \$144.00 \$22,046.40 144.00 \$22,046.40 50353 - SANITARY SEWER LATERAL SDR- 2,439.00 L.F. \$21.70 \$52,926.30 1,350.00 \$29,295.00 0.00 \$0.00 \$1,350.00 \$29,295.00 50354 RECONNECT SANITARY LATERAL 75.00 EACH \$3,400.00 \$255,000.00 10.00 \$34,000.00 40.00 \$136,000.00 50.00 \$170,000.00 50361 WASTEWATER CONTROL 1.00 LUMP SUM \$10,000.00 \$10,000.00 0.00 \$0.00 \$0.00 0.75 \$7,500.00 0.75 \$7,500.00 50390 SEWER ELECTRONIC MARKERS 249.00 EACH \$47.00 \$11,703.00 84.00 \$3,948.00 20.00 \$940.00 104.00 \$4,888.00	50304		741.00	L.F.	\$126.10	\$93,440.10		0.00	\$0.00	752.00	\$94,827.20	752.00	\$94,827.20	101.5%
35/SDR-26 2,439.00 L.F. \$21.70 \$52,926.30 1,350.00 \$29,295.00 0.00 \$0.00 1,350.00 \$29,295.00 50354 RECONNECT SANITARY LATERAL 75.00 EACH \$3,400.00 \$255,000.00 10.00 \$34,000.00 40.00 \$136,000.00 50.00 \$170,000.00 50361 WASTEWATER CONTROL 1.00 LUMP SUM \$10,000.00 \$10,000.00 0.00 \$0.00 \$0.00 0.75 \$7,500.00 0.75 \$7,500.00 50390 SEWER ELECTRONIC MARKERS 249.00 EACH \$47.00 \$11,703.00 84.00 \$3,948.00 20.00 \$940.00 104.00 \$4,888.00	50305		145.00	L.F.	\$153.10	\$22,199.50		0.00	\$0.00	144.00	\$22,046.40	144.00	\$22,046.40	99.3%
50361       WASTEWATER CONTROL       1.00       LUMP SUM       \$10,000.00       0.00       \$0.00       0.75       \$7,500.00       0.75       \$7,500.00         50390       SEWER ELECTRONIC MARKERS       249.00       EACH       \$47.00       \$11,703.00       84.00       \$3,948.00       20.00       \$940.00       104.00       \$4,888.00	50353		2,439.00	L.F.	\$21.70	\$52,926.30		1,350.00	\$29,295.00	0.00	\$0.00	1,350.00	\$29,295.00	55.4%
50390 SEWER ELECTRONIC MARKERS 249.00 EACH \$47.00 \$11,703.00 84.00 \$3,948.00 20.00 \$940.00 104.00 \$4,888.00	50354	RECONNECT SANITARY LATERAL	75.00	EACH	\$3,400.00	\$255,000.00		10.00	\$34,000.00	40.00	\$136,000.00	50.00	\$170,000.00	66.7%
	50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$10,000.00	\$10,000.00		0.00	\$0.00	0.75	\$7,500.00	0.75	\$7,500.00	75.0%
50701 4' DIA. SANITARY SAS 14.00 EACH \$3,095.00 \$43,330.00 0.00 \$0.00 7.00 \$21,665.00 7.00 \$21,665.00	50390	SEWER ELECTRONIC MARKERS	249.00	EACH	\$47.00	\$11,703.00		84.00	\$3,948.00	20.00	\$940.00	104.00	\$4,888.00	41.8%
	50701	4' DIA. SANITARY SAS	14.00	EACH	\$3,095.00	\$43,330.00		0.00	\$0.00	7.00	\$21,665.00	7.00	\$21,665.00	50.0%

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584

PAYME	NT NO. 5										******		
		1 	2 	3	4	5 	6	7	8	9	#10	11 	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50771	INTERNAL CHIMNEY SEAL	3.00	EACH	\$400.00	\$1,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50781	8 INCH SANITARY SEWER OUTSIDE DROP	3.22	VF	\$410.00	\$1,320.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50791	SANITARY SEWER TAP	6.00	EACH	\$190.00	\$1,140.00		0.00	\$0.00	2.00	\$380.00	2.00	\$380.00	33.3%
50797	EXTERNAL SANITARY SEWER STRUCTURE JOINT SEAL	14.00	EA	\$475.00	\$6,650.00		0.00	\$0.00	7.00	\$3,325.00	7.00	\$3,325.00	50.0%
	SUBTOTALS				\$823,850.52			\$68,661.25	•	\$386,761.87	•	\$455,423.12	55.3%
WATER	ACCOUNT NO. 10896-86-179												
10703	TRAFFIC CONTROL FOR WATER MAIN INSTALLATION	1.00	L.S.	\$1,000.00	\$1,000.00		0.00	\$0.00	1.00	\$1,000.00	1.00	\$1,000.00	100.0%
10913	MOBILIZATION FOR WATER MAIN INSTALLATION	1.00	L.S.	\$8,000.00	\$8,000.00		0.00	\$0.00	1.00	\$8,000.00	1.00	\$8,000.00	100.0%
40381	REMOVE & REPLACE CONCRETE CURB & GUTTER	20.00	L.F.	\$34.00	\$680.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50222	UTILITY TRENCH PATCH TYPE I	286.00	S.Y.	\$124.00	\$35,464.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50225	UTILITY TRENCH PATCH TYPE III	85.00	T.F.	\$62.20	\$5,287.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	165.00	L.F.	\$74.70	\$12,325.50		12.50	\$933.75	61.50	\$4,594.05	74.00	\$5,527.80	44.8%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	970.00	L.F.	\$91.30	\$88,561.00		394.00	\$35,972.20	52.50	\$4,793.25	446.50	\$40,765.45	46.0%
70005	FURNISH AND INSTALL 12 INCH PIPE & FITTINGS	2,560.00	L.F.	\$106.50	\$272,640.00		0.00	\$0.00	823.00	\$87,649.50	823.00	\$87,649.50	32.1%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	10.00	EACH	\$1,200.00	\$12,000.00		1.00	\$1,200.00	4.00	\$4,800.00	5.00	\$6,000.00	50.0%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	5.00	EACH	\$1,573.00	\$7,865.00		1.00	\$1,573.00	1.00	\$1,573.00	2.00	\$3,146.00	40.0%
70034	FURNISH AND INSTALL 12-INCH WATER VALVE	11.00	EACH	\$2,675.00	\$29,425.00		0.00	\$0.00	4.00	\$10,700.00	4.00	\$10,700.00	36.4%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	10.00	EACH	\$3,360.00	\$33,600.00		1.00	\$3,360.00	4.00	\$13,440.00	5.00	\$16,800.00	50.0%
70056	RECONNECT 1-INCH SERVICE LATERAL	113.00	EACH	\$1,440.00	\$162,720.00		0.00	\$0.00	21.00	\$30,240.00	21.00	\$30,240.00	18.6%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	8.00	EACH	\$1,850.00	\$14,800.00		3.00	\$5,550.00	0.00	\$0.00	3.00	\$5,550.00	37.5%
70081	FURNISH EXCAVATION AND DITCH FOR LIVE TAP	1.00	EACH	\$1,100.00	\$1,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70082	CUT OFF EXISTING WATER MAIN	3.00	EACH	\$1,170.00	\$3,510.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

R. G. HUSTON CO., INC.
WALTER STREET & SARGENT STREET ASSESSMENT DISTRICT - 2016
CONTRACT NO. 7584
PAYMENT NO. 5

I ATME	N1 NO. 3	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70090	ABANDON WATER VALVE BOX	10.00	EACH	\$133.00	\$1,330.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70101	FURNISH AND INSTALL STYROFOAM	216.00	L.F.	\$12.00	\$2,592.00		0.00	\$0.00	48.00	\$576.00	48.00	\$576.00	22.2%
70105	PIPE PLUG FOR WATER MAIN INSTALLATION	2.00	EACH	\$853.00	\$1,706.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$694,605.50			\$48,588.95		\$167,365.80		\$215,954.75	31.1%
CONTRA	ACT TOTALS				\$2,990,272.24	•		\$621,121.29	• :	\$637,036.55	:	\$1,258,157.84	42.1%
CHANGI	E ORDER #1, ACC'T NO. 10896-83-173												
	- SANITARY SEWER LATERAL SDR- 35/SDR-26	749.00	L.F.	\$21.70		\$16,253.30	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	- RECONNECT SANITARY LATERAL CHANGE ORDER #1 TOTAL	38.00	EACH	\$3,400.00		\$129,200.00 \$145,453.30	0.00	\$0.00 \$0.00	0.00	\$0.00 \$0.00	0.00	\$0.00 \$0.00	0.0%
GRAND	TOTALS (CONTRACT TOTALS PLUS CHA	NGE ORDERS)			\$3,135,725.54			\$621,121.29	• •	\$637,036.55		\$1,258,157.84	40.1%